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7. The method of obtaining new genetic recombination in bacteria

' a)Transformation b)Transduction c) conjugation d) All

ew6$0dr 5o6: 1s'ji a$g {a$:Sod*aepell 563d $ga

i) 6o5Es$', o) $os*i.s$ $) soofrrfa5u s) ereodr

2. The invagination of plasma membrane in a bacterial cell is called

a)lnfection thread b)Mesosome c) Lysosome d) capsule

ew4loour'5ooso6 *Q65so;tot soodc3 b6pd ero665erve$ b$o@dr ?

J) So[65reo Bsr{r A) SRFS$ R)) gRFds) 6) r$as

3' which of the following is a differentiaily permeabre membrane
I
I a)Primary Cel! rvall b) Plesme mernbrane c) Seconda:'y cell rvall d) Naiddle lamellunn
It LBo6d.cd $rS +UrtSg 65$$u b6 ?

J) F.6eS 6o5555oo A) *Q 65di5r R:) 6g6o6 Seo5b{$ B) $6gSeoo5

4. The cell organelle that helps in packaging of proteins, lipids and other substances

a)Endoplasmic reticulum b) Golgi complex c) Lysosomes d) Vacuole

L$6*, ob* $od6e a66 Seger$: fudeo5 $o*D€JS dXSd Seeorfsoo

U erof$S g55gawer5o8) ri.f, Sog5S S) pRFSSoer S) ogg

5. The cell organelle mainly concerned with glyoxylate path way is

a)Ribosome b) peroxisome c) Lysosome d)Glyoxysome

do6r3pdS $6SoDd Soero{oder Seeod6l

i) pd*Fs$ o) ?re33d5'' 3)) p*F6650' e) dddr.*#sD

5. The structure present within the nucleus which is concerned with ribosome synthesis is

a)centromere b) Nuclear membrane c) Nucleolus d) Nucleoplasm

po€e€5oe 6dlF63 o{6d dog5$odc ce3eo6u b6 ?

a) ?roqefooO6 A) dogs 65JSo ?o) do6so65u g) dogds q65g5u
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7.

8.

The histone proteins which are present in the nucleosome are

a)Hr, HzA H2B, H3 b) H2A, H2B, H3, Ha C) Hr' 'HzA' Ha'' Ha d) Hr, HzA, HzB,H+

5r"Sq6rdC6oD Sot$ tfer s"q5 1+69 Sa t

J) Hr HzA, HzB, Ha A) H2A' H2B' H3' Ha S) Hr' H2A' H3' Ha &) Hr' H2A' H2B' Ha

Thehomologouschromosomesareseparatedfromeachother.and.movetotheoppositepolesdu

b) AnaPhase-l c) AnaPhase-ll d)PachYtene

a)Metaphase-l o' AIrdPrroJs

6 13o6 66d sspewsoO g$s*#;5o I c8isoo SSadS 66*er Eb So*oo

J) So65f 66-1 0) SeS 6'J-t b) Ss$ 6'5-tt e) i'965

,t 9. PolYribosome refers to

a) Many kinds of ribosomes b) Ribosome'with many subunits

c)Many'iUo'o'n"'attachedtothesamemRNAd)Ribosonesintheprokaryoticcell

+5pdd$oD elsn"

a) es$€ 6*e pasdSoier E) erSS 651p5weeer r{er pd8dSo

s) a.g m RNA g, -16r;; eod erd€ gddsoen s) €og66 S655aods gasdSuen

L0. tn which of the following cells the pressure potential will be zero

a)Ptasmolysed cell b)Turgid cell c) Cell with incipient plasmolysis

€a g9o6 Sea.sd dpo$oO $*SXSgSar Kool +oorc6 ?

a) 6eot65$ so$'6So 3o65 6oSoo A) SJd 6eo$n

S) es,6od Sa$55 SossS$) 3o65 6oalo 8) 1 & 3

1_1. The c4 acid that undergoes decarboxyration duiing ca pathway is

a) €eEf erb6E er{o a) teibgE erfto b) SwoE esfto

\2. Secondary active transport of ions is due to

a)Use of metabolic energy b) Proton motive force c) Use of ATP d) All

eldg*€ aSSd$ $LgdF 6a"ea 6P5e$ a6:t{>$

a) d$ggoSr 69 S$dwd$o

b) ATP AC6F66D

L3. Photolysis of water occurs in

a)ThYlakoid membrane b)Stroma

2
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d)Land3

a)Oxalo Acetic Acid b) Aspirtic acid c) Malic acid d) Succinic acid

co 665$ $o6 AsoShd{S aod co etftSll 5a ?

a) detil $eS aeSD

B) eqotD

8) S33sE erfto

NC-18

c)Lumen d)Cytosol



s.oa Sd 5S c$;fS 6po$o* eertd)S)

i) pers.o5rE 655$ S) eo6p6 S) ep6s-$S 8) 5eag65g Sr.LsS

L4' Grorvthoftheaxillarybudscanbepi'oi'ncteda:'ldtheplantcanbegrc."u;rivithabush.;eppearance

6ra a"f" ="r.6rfr6es) !$6ps"os e-s Br:s4 $6Ee d:anr$n b6r$sq $osrrsJs
J) e4ne6gdS 1*daoS€c Se:S

$) erfoSE er{Eu$ tSgeo SerS

Triple response growth is caused by

a)Auxins

t86e5 dqSJ ?:drr$6e$ S$6ddDSo

a) es9pQ E) €ecloe s) erfoSE ee*$)

16. The process of making hard seed coats soft and thin is called

a )Stratification b) Scarification c)Vernalization d)lmpaction

6gdpS Sas66*e;1l &€m, Segrn S*6n ggeo5*$ S$oer6 ?

r) q6$das a) i.ao&€{s R ) B6Jpd{5 8) eo$9.5

17. Diadelphous stamens of Fabaceae show the fusion of

a)Anthers b) Filaments c) Both filaments and anthers d) Filaments and petars

*Sdfo $eooaod0 65ecod6 dfeerd as $ooiu{$geor
J) Soprf $aep

S) $ed $eer a d.J6doa-en

Sexual system of classification proposed by Linnaeus is a

a)Artificial system b) Natural system c) phylogenetic system d) synthetic system

Odgo$S [$s]6os5 poES Sf,S6eo SgF$ epSr56 a,S

a) 6965 sf,suea 5gs6 O) s$eg sf,sOea S5s6

s) 5f &s$ soecos SflS6o rss€ 8l sof,{s s$suea sgrg

19' In Mendel's dihybrid cross between plants with round , yellow se ds and wrinkled, green seeds how
many plants in F2 generation have both recessive homozygous condition

al9/L6

a)By inducing apical dominance

c) By spraying abscisic acid

b) By removal of apical dominance

d)By treating with Gibberellins

0) er1p"Q-656$r 8e)floi$cc se)S

e) €eoo* sep€c SerS

15.

b)Gibberellins c)Abscisic acid d) Ethylene

8) JAOS

a) d.56 6oc-ep

8) d,t'6foc-e> & e56.o 61eur
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F2 665D Soc5r JQ Bo6ger 6o6 e{eeer S$o$o63e erc6f;6 et{eaner 50fl 6o0woo ?

J) 9/15 a) 3/16 *) 4lt6 u 1./16

20. A cross between a plant of F1 generation with a recessive parent is called

b) Test cioss c) Reciprocal cross d) Double cross

F1 6oBsg 5o65 5o56 Fo54$ $$o*u63e ero6f;6 ag5566o BDSad SoS6eao edr6eosr

S;$oe.lctr ?

)) e6g5 So56o5p A) 669' 6o66a5o S) EStSSd So56eo5o e) q

21. ldentify the physical mutagens

a)X-rays b) UV rays c) Gamma rays d)All

$) rl.5p 36eoeri) X-B6eeep A) UV 36ecer

22. Which of the following molecules are formed by DNA dependent RNA synthesis

a)mRNA b)rRNA c)tRNA d)All

6a 13o6a.Cd DNA esp0d RNA So€{eo $eS 5-6pt3r50'

j mnun O) rRNA $) tnrun 6) eoQotu

23. According to ICBN the name of the plant should be in which language

a)English b) French c)Greek d) Latin

e) ery65

lcBN g5s.65o ao64a$o6 p$rED 5 qlAd 6oa-0 ?

J) ao$E a) LEos

24. Splicing occurs during the processing of m.RNA in

s) 65

a)Eukaryotic cell b) Prokaryotic cell c) Virus d) All

m-RNA 1p'=osoF Soc5r plso6 t-$Lgd$ $6oOo* es6.S$

J) sa:€og5€ Seo$u 0) €o155 (y65So5o b) E65 dl erqoS:o

25. Lac Operon was explained by

a)Hersheyand Chase b)Messelson and Stahl

eryE a,?:e5i$ &5OoOS at$

c)Jacob and Monad d)T.H.Morgan

J) =.FE"r dr SF O) $=oq5 & q5 $) ep56. & Fu;pE 8) 6.F5.EwqS

,4

rf:o$C, 5$$ Cgio"er 6er Blrga$, Soof,rdel, erS:$.5;S &$uerder BuS4d So$6eao

a)Back cross

f85 6610596 s6s.e$ t{>Qo;S:So

8) erQofo
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26. The vector used for the preparation of transgenic plants is

a)PBR 322 b) Agrobacterium tumifaciens c) M-13 d) E. coli

1g.:FSBcg Fo5ge 6dfr666 aSdrflod p$SSoo

0) erffer"j$od$50 eu5$$soOS;

6) +Sg

27. Restriction endonuclease recognises the target site and,cuts the DNA molecule at

b) Sticky ends

d)At the middle of DNA molecule

Ae{S Jod$wsgd$ aop$ DNA eoeargdc S So.e$ r$QoO 6goo;ir$

J) isoodsS $uer
b) 93p$5 95er

J) PBR 322

b) M-13

a)Palindromic sites

c) Cohesive ends

O) eodl$r4$ SSer

8) orun caeaob $Sgql.6$)

28. Presence of double helix in DNA molecule was discovered by X-lay diffraction study by

a)Watson and Crick b) Chargaff c) Linus pauling

DNAerear$Soe$ x-6 Et}S"s f€ep dSd*floo g$o;er co3eoe€$n-Sgaqi$gier

J) a"erJ5 & LgS A) pqF

29. The termination codon present in m-RNA is

$) 9S5 $oo6 8) ao453 e $ogF

a)UM b) UAG c) UGA d)Arl

m-RNA 5o6 .6od oo6gSo€oep 5p ?

J) UM o) UAG $) uen &) erQo$u

30. Theplasmid of a prokaryotic cell is used as a vector in r-DNA technology because

a)lt has less mofecular weight b) lt can be easily isolated and reintroduced into the cell

c) lt contains gene for'ori' d)Arl

d) Wilkins and Franklin

$S:Sodpes5 DNA 6c6r.6 5o6 do16S {y"65 So$odC EfgSS eei$gan*n55or:o 6b6wflo;3ecg)

s6a$o

J) 6$45 eoearp66o SOfl 6ot're.r

0) Ser{o$. So5olto6 dO $S Son 6dd -"r€g€r$ Serr$ac

$) 'ori'"qA 6Ofl aofie.r

8) erQdr

31. The spicules of sponges are made up of
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a) Silica b) Collagen c) Tubulin d) Dynein

e) Eps

d) Arachnida

8) er03;.a-

d) NePhron

8) Bes

d) Vitamin E

&) Aer$SE

d) Pinctada vulgaris

&) bo$c-

d) Chetonia

35

36

37.

38.

c) Vitamin K

b) cbss K

b) sod dpoF

c) Crocodiles

b) Bll$6J

$po€Sed So€rsel 6cd coguProDD 
,

D) tuOs 0) s9es5 b) ecogzuO5

32.

33.

ticks and Mites belong to class

a) Crustaceae b) Insecta

653 $Ooto P6f 5 CqFrPcB Bo5>eoor ?

J) LSbR ddr. A) e5=oE

The body of a vertebrate is

a) Biradially symmetrical

c) Asyommetrical

S$tPe5e dso .s*boS s5so

J) 655eo6 3"S5o A) a5$625 SfSo ?c) er$$So B) 5srd6 #$5o

34. The placenta in man is

a) Haemochorial

5r"56e,d Oot$6

b) Epithelochorial c) Syndermochorial d)

J) 3"3F $ooSs5 A) is)Aodr" SsoOO $) 3)FeJb $ooOd 8) 5
Havarsian canals are found in

a) Heart b) Gut c) Bone

$) JSrog

="r50*o5:5 selse) 56d eoe.rooc

)) t$od 0) aot$

Which one of the following is the antisterilityvitamin ?

a) Vitamin A b) Vitamin C

5oS65 $p6eo Der$s gSoa*Ed 56 ?

J) Pee$S A a) Der$S C

The scientific name of India Pear oyster is

a)Turbinellapyrum b)Osteraedulic)Teredorovalis

er"66dd So6g6 eed6r}6 5c ?

i) b0139 e65l 0) es}6 Jdro

Anapsid type of skull is Present in

a) Lizards b) Snakes

ero.pSipE 5ga 5ed ser:

J) erqge>

NC-18/T Code - 101

c) Myrinpoda

b) $0o5r&c'

b) Bilaterally symmetrical

d) Radially symmetrical

NC-

O) $5pe> s) EdsddP



39. Which one of the following is not a blood clotting factor ?

a) Hageman factor b) Calcium c) Thronboplastin d) Havell's factor

g3o6+6d 5a 6g$god$ y65o sd: ?

J) :F6$5 y6$o 0) sO*o6o $) g5oA6{er 8) ="rBdJ s65o

40. 2l"tTrisomy of chromosomes leads to which type of syndrome

a) Turner's syndrome b) Kinefelterssyndrome c) Down's syndrome d) Edwards syndrome

21't lERPar 5g Sof RroSS

i) er6JEJ R:o@Sl a) gc?g6; Rro@Sl R:) dssp boS5l e) rEsh bogs5l

41. The Kaziranga wild life sanctuary (Assam) is meant of the protection of ?

a) Elephants b) Leopards c) Tigers d) Rhinoceros

es$fod 6er 5o86on" 55g@e$ eo{.6eogo dc SoOgqoa Z

J) S$tf>er a) o3.8', $) 866 e) p$$os

105 S$er e"8 ,

J) $16+8 0) es$go"S $) +rf5

Multiple allelism controls the inheritance of

a) Blood groups b) Phenyl'ketoneuria c) Colour blindness

a$r6otu63 O5erp5er 56 er$5o€S6$ y65o

J) 6g d+6* a) +ES $essrgex* 3) rg eo{55o

Example for Aromatic amino acid

a) Alanine b)Aspartic acid c) Phenylamine

egdspgg elps4 esSgSB 4o"$6o

J) eropS 0) esSp$S e{o
Study of reptiles is called

a) Rhinology b) Herpetology

$6$;i.er r$OoA 5AS a1$o$ 5$oep6r ?

J) 9Pete

NC-18/T Code - 101

42. ,The storage organ in the stomach of a reminant is

a) Rumen b) Reticulum c) Abobesum

6*$3od5p G$6 d* dberd) es$6 scli es$d6fo 56 ?

J) 6r.$5 b) eraE5fSoc

c) Vagus

)e) 0) BESrgerS

$) 3rpe5 esetc5

c) Hematology

R:) ?rS*e.lere

d) Omasum

e) e$ss)

d) Trigeminal

8) 1a$6 uB

d) Sickle cellanemia

A\ g.R.q <- 
^o\a\.^<*w,, NgV 99C gavgw-

d) Glutamic acid

8) €erlc5 eg*o

d) Heptology

8) =.rle;roer€

43

44.

1Oth cranial nerve is

a) Optic , b) Facial

45

46.

O) ="r6'rc.rer€



47. 'Ontogeny repeats phylogemy'was given by l

a) Cari Linnaeus b) Ernest Haeckel c) Carl Pearson

'Ontogeny repeats phylogemy' eS aA1Sa"6 J56 ?

a) sg oBJdsrF a) aES ?FBd b) sg 3co6635

Which of the following fish is living-fossil ?

c) Catla

e66 As$E $sd3s 56 ?

Oz dissociation curve shifts to right under

a) High COz b) Low COz

02 cdr.86 6ar $8ESS 6P 5e$ ee6t$6oa ?

48

a) Latimeria b) Dipnoi

g3oba.8d $dS €eres dr Sa ?

a) e'.8$od6'. a) alAS' b) gg 8) tsbdE65

lfchildb|oodgroupis.A,andmothersb|oodgroupis',8',whatarethegenotypesofr 49.
and father ?

a) [BlBx lAlA b) lAlBx lAlB c; lBlox lolo d) lBlox lA]A

€dr$ 59 UtF D 'A', 69 69 UtF6 'B' eooood' " -tlt:*er 
6$gf*6er *So56rler

J) lBlBx lAlA S) lAlBx lllB b) lBlox lolo 8) lBlox lAlA

50' Amber is 
c) uGA d) uuA

a) UAG b) UAA

5oa6 eP66

a) uAG a) uAA b) uGA &) uuA

51.'ExcesssecretionofwhichhormoneresultinCushing,sdisease

54.

a) Cartisol b) Aldosterone c) Projecterone

5 fF6"3$ 6*54 erQS e65$ SerS $hoQ1 +50 Sert$6oa ?

a) e$$6 0) etSe5 '"l) tFAAo"S

Hyper glYcemic hormone ts

c) Secretin

'"1) "og865

a) lhsutin b) Glucogon

a) a$;o5 a) €5d5

l) ep85 COz 0) eler; CO2 b) es05 PH

lron is present in haemoglobin in vuhrch state

a) Fe*2 b) Fe*3 c) Free

5.3r.d456€ e$$o 13oa- $Sd do€ccob
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d) Lamarck

8) er5w64

d) LePidosiren

d) EpinePhrine

8) rbBtps

d) ThYroxine

&) Pe335

d) High Oz

8) ep05 Oz

d) Fe*a

NC-
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i) Fe*2 0) Fe*3 $) 6q5r 8) Fe*o

Mononuclease phagocytes of liver are called as

b) Mast cells c) B-Lymphocytes d) Basophils

555 Seoer$ aer berft6r

A) 5FE Seael) 3r) B-oolpeg C) d$sq:6"1

a) Kuffer cells

s.doOo$p 55 €og

J) SfE Seeerr

Intake of liquid food is

a) Pinocytosis

5eo$5o epoS

a) Vitamin B12- Perniciousanaenlia

c) Vitamin 82 - Pellagra

13o6a"6d 5a sps dA s6: ?

J) cee$s 812 - SEpBTF 5psd6r"

b) aer&S B, - Rg(gr.

Aneurin is the other name for

b)Vitamin 81- BeriBeri

d) VitSmin'C'- Scurvy

a) Der$s B1 - AO AO

e) sec$S 'C' - R4o5

d) Vitamin B.;

$) sg)&s 812 8) sec$s 81

d) None of these

8) 56 v6r

d) All of these

8) 56 s6r

d) None ofthese

8) 56 s6r

56.

ner

b) Phagocytosis c) lmbibition

r) 3,$Eef3r5 a) +dEeS$s

57. Detoxification process take place in

a) Liver b) Kidney

D{6So6on 5r6tJ esSd$So

i) vdo6o A) $FLdbo6o

Which one of the following pair is not correctly matched ?

b) eo8{S

c) Heart

?o) l$od

c) Urea

3)) C$r.OddJ.

59.

60.

61.

62

a) Vitamin 82 b) Vitamin 86 c) Vitamin B12

SSrgoS eo$a'g3oa o.p $ag Bu)

J) SeoSS 82 0) See$S 86

The colour of urine is due to

a) Urochrome b) Anrmonia

5g6o 6otfr y6eoo

al, otu dL$S> O) erE*gcodr

Emulsification of fats occurs by

a) Pancreatic juice b) Bile juice

LS$Ser i;$5356eoo 6P SeS a6r$6oO

a) {$ uro 0) p65 65o

Which of the following is un-matching pair ?

9

c) Bile pigments d) Succusentericus

b) p6g 65 e5erell 8) 3535 Jo60S

NC-18/T Code - 101



a) KiCney - NePhron

c) Pancreas - Glisson's caPsules

g3oaa.6d 56 sori" ee6 $6d6 t

J) $r"[6bodo - 3$5

Which of the following is correct sequence

a) Mesozoic - Archaeozoic - Proterozoic

c) Palaeozoic - Archaezoic - Coenozoic

b) Liver - HePatccYtes

d) Stomach - Cardiac glands

0) vdo5ro - ?r$efpe.rer

63

b) {$o - 0=*5J tt06e>

Respiration and photosynthesis both require

a) Glucose b) Cytochromes c) ChloroPhYll d) Sunlight

q5Sgeo6$ $OoAD 36eo*55 Sod*dLgd6$ doSoBB w5el'd56

J) t{gSa:' al pe$r$$0ru tu) *6€bd 8) Sn66so8

Half of the patients with allergic disease have increases serum

d) lgM

S) d%.5osro - :r$S Ufo{teP

a) lgE b) lgD c) lgu ul rervr 
]

ae{d e*Sbc3r65loartrerd KeSr.6 $6o $oB 6$od gSoO g5e6$o i5r45ri" eoerDj
c) lgG

a) lgE A) lgD Rr) lgG e) lgM

Salivary amylase is activated by which ions

a) Sulphide ion b) Phosphate c) Chloride ion

ep€F€e Jpdaei gSoA erd*f 5g eQa:o ep66o6

A) S$E epofr5 al *tJs b) *E esoJFS

How many ATP molecules are synthesized by th.e citric acid cycle, in Aerobic respiratio

glucose

b) 36 o\ )A
a) 38 D) Jb ') L-

a.o*ua5$ [gd6d 1 6g$a,, eeeoDb $og 3rg65 EgeSo! JUATP 6d5r"6 epbeooo ?

J) 38 A) 36 "a) 24 &> L2

Teeth of mammals are

a) Diphyodont b) Pleurodont c) Polyphyodont d) Homodont

$utr troee>

J) P?6rc-oe5 0) {gdc'oeS b) +Obdra'o6 8) =.nwFPc-oc5

b) Palaezoic - Mesozoic - Coenozoic

d) Archaezoic - Palaeozoic - Proterozoic

gBoa*6d"SPS g$50)

J) 5$€dooE - er046*#o:oE - lp8d#oorE

64.

d) None ofthese

8) 56s6r

c) 12

67.

NC-
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6) e04d*dor5 - $ero:odong - |.9.864$oro5

69. To which of the following zoogeographical region does India belong

a) Neotropical b) Nearctic c) Ethiopean

gtsoaa.Bd 5 asod) fn'6e5 @oec3 ap66d6o Bodr6ro6 ?

$) $eroro#or5 - eg0zdr"docr5 - $$#ocE

J) epsr$S eS5rodero

b) eQeSoodr5

0) $eroordo)E - 5lRFdorE - $$door5

6$O6e 65t'$o 5Ed es6rfl6oa

J) Secsep 0) $6splur

Liver rot is caused by

a) Faciota hepatic b) Dugesia

70. Function of sertoli cells

a) Reproduction b) Respiration c) Nutrition

*do Setl.eo 5a ?

'a) g66g6pQ A) a5$gBosr R:) #{eo

71. Superficial cleavage occurs in

a) Insects b) Reptiles

0) egs>P6 €6er 5>odero

8) gfu$g $odero

d) Oriental

d) All of these

8) 56 s6r

d) Mammals

8) $6o.er

d) Gyrodactylus

8) Po€c.$dp

ofa

c) Birds

Rr) S$er

c) Schistosoma

056 eeS$ Se:lr{d*a

J) *$drer =+$6s 0) 6$n$o5n $) $qRrssr"

73

74

Anguilla exhibits which type of migration ?

a) Anadromous b) catadromous c) oceanodromous d) None of these

esoh5er gSoB Ser$$ Sr.SoKIoA ?

a) erogS$5 0) wer13$s5 s)) eaodr.$dsS g) b6 wdr

Lactic acid is ccnvefteC into glyccgen by r,rhich of the follovring

a) cori &cori cycle b) ornithine cycle c) Kreb's cycle d) Glycolysis

5 SeroSro o.5e er$E eir*o [$eSn 5166o6

J) so aso Sed$o 0) esoges 5ero6o R:) gBdp sero6o B) !so$F
75. Biodiversity calculated in a particular area is called as

a) Beta diversity b) Alpha diversity c) Gamma diversity d) Delta diversity

a,5 c$S @o6odc d5pap.gcg B34o56o aer B:erQ6>

NC-18/T Code - 101
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a) Ae.r E966o a) eeelJ EsdS" b) n'$ Ec63o

76. lodine solution does not produce any colour with

a) dextrins b) starch c) cellulose

a) 31% a) 19% b) 38%

78. Operon modelfor gene regulation was pi-oposed by

a) Beijerinck b) Jacob & Monod c) Khorana

e) ag Ea6$o

d) glycogen

77.

6a g3ooa"6d dpd epdw8S $"eug{S Serou)S $eS JeroSoE 6ot$ 15502o5cir ?

r) e3pg85p . a) {6.1 $l *ell"gd€ 4) S$aeS

In an experiment,
c$osine shall be

a) 31o/o

DNA was found to have 31% adenine and 19%Guanine. The

b) 19% c) 38% d) 620/o

DNA d 3r% eo8p5 $odSD 19% ri'5p5 6od erQlc$ pd$s a6o Jo6 ?

a,?:65 SFdesSr dS ar$gd{S $So 658}6os5*tfi

J) pae6og 0) ewsaS & Ero"E $) S-eo"

79. Which vitamin prevents "Rancidity" ?

a) Vit C b) vit E c) Vit D

b) vit D

"Rancidity" esroc- 5 pe.lal5 es$6o6 ?

D) Vit C a) vit E

The selective media mannitol salt agar is used for the isolation of

a) Staphylococus b) Salmonella c) Lactobacillus ' d) Enterococus

Sr"BeJ"d $$ errn6 (selective media) C [BoB 5 ar$Oo:r"$ d6 doOc-Cg

r) *?d$55 O) $el3*3* Sr) el{aw""rg5 8) r56d$S

81. The enzyme used for the synthesis of cDNA from mRNA is

a) Restriciton endonuclease

c) Ligase

mRNA $oB cDNA $ edpQ $o:pecS 5 DopS$ pC;e6r ?

0) o56p 1$l5plSrg€

b) gfl€ 8) So5rd€

82 Proteins gives fluorescence because of the presence of

S g3o6a"cd dPSerS ff65er Fs6lP aQo ?

e) 62%

d) Watson & Crick

8) a.eap5 & 135

d) vit B

8) Vit B

80

J) BB5".S rodsr5fl&€

a)Alipatic amino acids

c) Acidic amino acids

b) Reverse transcriPtase

d) Polymerase

b) Basic amino acids

d) Aromatic amino acids

NC.
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J) esOpgSE erp$erSge> A) dSE erp$es5Eer

3)) JB)eg eop$e#ger 8) 5o'ESr.6E erp$es5gor

83 The resolution of an compound microscope can be enhanced by using

a) Short wavelength light

c) Variable wavelength light

b) Long wavelength light

d) Small numerical aperture

"compound microscope' 6u54 OSe*g{S ?lo;$e.lSr 6a g3o6+Sd 5a 666r"nq6 ?

J) 6$45 66otffl$o a) J$45 66odp$o

b) pc6g 66otfp$o 8) 05;;315$056 e$6.15

84. The ability of bacteria to change their morphologicalform frequently is termed as

a) alteromorphism b) Lysogeny c) Lysis d) Pleomorphism

,r$ooS:. $56*Fri. 65 6r$o Sr6;$od erccr5o6 frsc 5$oee6 ?

l) es$d ;tro;ee$ a) PSEB$ $) g$5 S) AdFSr"OJ"$

85. Acid fast staining of gram +ve mycobacterium is due to

a) presence of teichoic acid in cell wall b) presence of mycolic acid in cell wall

c) presence of dipocolinic acid in cell wall d) presence of diaminopimelic acid in cell wall

6e gBo6+Sd dpSerS gram +ve p$ew$OoOS "dr.$E }o$ 3e*o6' g l{>0 es$6oa ?

J) 5ea55$od p$oOS ca*Su aoCsea $er5

0) 5ea55$od p$oS ca*Sl eodre.r5ers

?o) 5o555od p*rssoc5 e{$ 6od.oec$er$

8) 5o555od 3 eop$b$erE ee*Sr 6o6€,r5er5

86. The two components of a "Lichen" association are

87. Paper chromatography separates compounds based on their

So"qs, $O $* "Ls5rc$Uf$" dp 5>6 esq.6 5t$6o6 ?

a) u$ (6$) A) 5r.5 ($Sge€)

b) 69 $odSD g55g<n6e c$Q e) $g{5 $laaoo"es

88. Desalting of the protein sample during protein purification can be performed by
13
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a) Fungus & Protozoan

c) Fungus & Algae

6e g3o6+cd '55"er 5 Bo8o8 Serop5

J) €Sogro & 1$e$da.er

Rr) SboLql"el: & p5ener

b) Fungus & Virus

d) Fungus & Bacteria

0) €6o[qr$ & p65er

a) Charge

c) Mass per charge ratio

8) €SoLqFeD C au"$Oodr

b) Mass

d) Partition co-efficient



^-.1cr ttr

0) 5 pHd s%SJd Utt'5 Son 4o66

?c) 5 pHd ae$p6E &Daod J$45rn eoclcoa

8) 5 pHd es$$ q$.bE 3e5 up 6o66

The group of organisms which uses light as the energy Source and COz as the
source and CO2 as the carbon source is called

b6s
a) Photoheterotrophs

c) Chemo heterotrophs

6a gSoO d$erdE 5C sos0 6$m

")) so8$6iF{ver

b) 63.d65 $6iFirsqr

b) Chemo autotroPhs

d) Photo autotroPhs

$OotD COzC 56;5 6$ri'e$6whoi$$oFoo ?

A) 6i.d5r5 $5o6oiF4ser

8) vo8 $5odroiF{ser

96 Which'method is widely used for the production of virus free plant

a) Embryo culture b) Anther culture c) Meristem culture d) Ovule culture

865* 63e,r$6o 5r.SP E o4f\edgQ So$c'pe 5 56sC 6Sdrnq6, ?

J) 3co6 S{SSD
v

0) se6$6 5gS5D

$) e*eeg Seoewer 59550, t) eso6 5955D,

97. The use of living microorganisms to degrade environmental pollutants is called

a) Bioremediation b) Bioextraction c) Biofiltration d) Bioconcentration

Sr$d6er 1$Spad $od soig v6sep sqSJ" SoOc-q 5;6oe.r6 ?

J) adwBg8dJp{S 0) adrJspg:n5*S b) o6t"hgd45 8) adwsS?rsd{s

98 The amount of energy released when one mole of ATP is hydrolysed

a) 7.3KCal b) 15.3 K Cal ^\rat(^^lvl 4,u i\ vql d) 8.3 K Cal

a,5 ATP eseaD6$ cQ5lo $bS66 )o6 3u{oS gg s65er epS6ob ?

J) Z.B 3C yer6er A) 15.3 Bd 5's6e.p b) 2.3 3d we6eD 8) 8.3 3d se6eD

The mechanism of intake of DNA fragments from the surrounding medium by a cell is called

a) Transduction b) Tranformation c) Conjugation d) None of the above
99

a) [er5p65*5 O) $0595o ?c) Sod:063o S) p$5 e6'r

'100. Which enzyme is used to remove phosphate group from the 5' end of the DNA

b) Alleline phosphatase

d) Polynucleotide kinase

SO$65w$gSrE itoe &.Js.J.$ Seao ero66$Seao d*p$5c-Q.5$eoe,r"6 ?

a) Restriction enzyme

c) Exonuclease

DNA 60154 5' OSO5loB +*"15 tifl$p 8eflo56'C3 5 Aop$c a"cbe6 ?

a) BCsdS Jop5l a) ercp5 +qSS 3:) a$p5*5f&5

NC-18/T Code - 10L
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e) A.OSF6gdr.€E ESF


